Analyze the following argument. What is wrong with it? How would you fix it?

Question: Charlie thinks their headphones are worth $100. Charlie wouldn’t
pay more than $100 for headphones, but doesn’t regret their $100 headphones.
Chris offers to buy Charlie’s headphones for $200. Give a reason why Charlie
maght like this offer, but also give a reason why they might not like this offer.

Answer: Charlie would be a fool not to take this offer! The
headphones are 100, but Chris will give $Z00 so that is

$100 profit. Definitely a good deal.

On the other hand, Charlie might want to buy replacement
headphones and that will cost $100, so all the profit is gore.
Charlie will be back where they started with no extra money,
but will have had to go to a bunch of trouble selling and buying
headphones fo get there. Not worth it.

Your answer should be in complete sentences. It should probably be in two paragraphs.
Your first paragraph should identify what is wrong with the argument, and your second
paragraph should explain how to understand it correctly. You don’t have to actually answer
the quoted question (about whether Charlie likes the deal). Your job is just to analyze the

answer given.



